36, s Ablock weighing 50 N rests on an inclined plane. Its \é/
weight is a force directed vertically downward, as illus-
trated in v Fig. 3.30. Find the components of the force par-

allel to the surface of the plane and perpendicular to it “P he" /"
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Method 1: Ok... but method 2 is better. ¢W X

Form a right-trang o with the x- axis.
Find fe angle vty fhe x-aus .

Do not call’ it O, e name hag been Faken a[mu{;,.
How t&@ahj(a qu related fo dhe incline's ahf& D!

Do come goometry ..
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Method 2: Is the incline's angle Qqual to one of the angles in our right triangle  ?

Tt conld be a (it cluttered fen.
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